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(2= 8IEE) 3A15H22:30 | 1.75 |[3B1781300| 1.10 |[3B1781500 | 0.26 | 382382:00 | 0.20 |[ 382584:00 [ 0.13 | 4A7819:00 [ 0.17
H234.1 | 12:00 |mm®E| 3 | 030 Mm%k | 2 | 033 | m&E | 4 [ 010 | @ | 4 | 012 |mm&E| 3 | 009 |mmx| 3 | 004
. 13.00 ||mmm| 3 | 0.30 |mmm| 2 | 031 |mm&E| 3 [ 013 | m | 3 | 010 |[mm®E| 3 | 0.10 |mmE| 2 | 003
. 14:00 ||mmm| 3 | 028 |mmm| 3 | 029 |mmE| 4 | 004 |mmm| 4 | 011 |[mm®E| 4 | 009 | mE [ 3 | 0.06
. 15:00 ||mmz| 3 | 028 |[msm | 3 | 027 | m [ 3 [ 005 | m | 4 | 016 |[mmE 4 | 009 |mmE| 3 | 0.06
. 16:00 |mmm| 3 | 028 |[mm | 3 | 030 | m | 4 [ 004 | ®m | 4 | 012 [mmE| 4 | 0.09 2 | 008
. 17:00 |mmm| 3 | 028 || 2 | 028 |mm@m| 3 [ 007 | m | 4 | 010 | m | 4 | 010 2 | 011
. 18:00 | mm | 2 | 028 |mm&E| 1 | 030 | m [ 2 |011 | @ | 4 o012 || m | 3| o010 2 | 011
. 19:00 | | 2 | 0290 || & | 2 |029 | m [ 3 |o010 | m | 3| o010 [[mm| 1 | o010 |mmE 1 | 005
. 2000 @ | 4 |028 | = [ 2034 || m | 2|007 | @ |20 | @ |[1]|010 |#kE 1 | 014
H2342 | 700 || #t® | 1 | 028 |@mt&m| 1 | 029 [dsm| 1 | 010 [#k&m| 1 | 012 | m® | 1 | 009 |4dkmx| o | 0.05
. 800 mhzm| 5 | 027 |mmm| 2 | 029 | & | 1 | 009 [#k&E| 1 | 012 | M@ | 0 | 0.09 | #E | 0 | 0.04
. 900 | = | 3 [ 027 |=m=| o | o030 | = |1 |o10 | & [ 1|01t | m | 1|00 @m |2]|o008
. 1000 @ | 1 |027 || = [ 0|02 |mtm| 1 [010 | % | 1 | 011 || & | 1 | 008 |mm&E| 1 | 008
. 11:00 || mmm| 3 | 027 |[msm | 1 | 021 [#km| 1 [ 003 |m&| 1 010 || m | 0o | 010 | mEm| 2 | 008
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H23.4.2 12:00 || &EmdE| 4 | 0.27 |[Fmm@®| 2 | 029 |(&m@E| 1 | 005 |(@wmmdE|( 2 | 011 (=e=| 1 [ 009 [@mm=|[ 1 | 0.07
. 13:00 ||&Ed&E| 6 | 027 |[ 4= | 1 | 028 [ 4= | 1 [ 009 |[mx| 1 | 0.11 mE | 1 | 0.08 |[FAEE| 2 | 0.10
. 1400 | & 6 | 0.25 = 1 ] 023 ||®=m=| 1 | 013 |[Arm=| 3 | 0.11 = [ 1] 009 A= | 2 | 0.03
. 15:00 || &EmdE| 2 | 0.25 = 2 1026 || 4= | 2 | 005 [=4xE| 1 [ 0.09 |f4tdtE&| 3 | 0.08 |rFmeE| 3 | 0.08
. 16:00 |[#E4d#E| 6 | 026 || M= | 1 | 025 [ 4= | 1 [ 008 |[4&E | 1 | 008 || &L= | 2 | 0.08 ] 1 | 0.06
. 17:00 || &dtdE| 11 | 0.26 |[=ea®| 1 | 0.25 |®d=| 4 [ 012 || 4= [ 2 | 011 (=4=x| 2 [ 0.09 |&EiE| 3 | 0.08
. 18:00 || #&dtdE| 11 | 0.25 |[&ALE| 1 | 0.26 |=4=| 4 | 005 |[=dxE( 3 | 011 (=dx| 2 [ 0.09 |[[dd&E|[ 2 | 0.13
. 19:00 || &E4L#E| 9 | 0.25 i 11030 || &= | 4 | 011 |[dLde=| 4 | 0.11 |4edL=| 1 | 0.10 it 2 | 007
. 20:00 ||®d@| 8 | 0.25 | 4#& [ 1 | 029 |[[=®it=m| 4 | 0.05 |4ddx=| 4 | 0.10 [dd=|[ 2 | 0.08 = 1 1 0.11
H23.4.3 7.00 ||#Em#E| 5 | 0.28 i 11027 || &= | 3 [ 007 |[[4E | 2 | 0.12 |dedtd@| 2 | 0.09 |=m=E| 2 | 0.09
. 800 || & | 6 [ 028 |[ 4= [ 1 | 029 (4= | 3 [ 009 | 4= | 2 | 0.10 it 2 [ 009 |[FA=]| 2 | 008
. 900 || mx | 2 | 028 |[=4eE| 1 | 0.27 (=4=| 3 | 007 |[ 4= [ 2 | 008 ([dtdx| 2 [ 0.09 |=m=E|[ 2 | 0.04
. 10:00 || #E4L#E| 3 | 0.28 = 2 [ 034 |[d&=E|[ 2 | 010 [=4&=E| 2 | 0.09 it 2 | 0.09 |[®=Fm=| 2 | 0.08
. 11:00 || 44| 3 | 0.28 |[mm®| 2 | 0.26 (&mea| 2 | 0.14 |[@mm=E|( 1 | 0.11 it 1] 010 (@@= 2 [ 0.11
. 12:00 || & 4 [ 027 |=Fm=| 2 | 033 (mém@E| 2 | 0.12 ] 1 | 0.09 |rFmm=| 2 | 009 |[=FE=|[ 2 | 0.01
. 13:00 || #dt#E| 5 | 0.28 |[FRE®| 2 | 0.27 |mm®E| 2 | 0.14 ] 4 | 0.10 |(mFm#E| 3 | 0.09 ] 2 | 0.07
. 1400 || &% | 7 | 025 |[Mm= | 2 | 023 || m&@ | 3 | 0.08 |mm®| 3 | 008 (mmea| 3 [ 0.10 |mmmm®x| 3 | 0.08
. 15:00 ||&dt&E| 6 | 0.25 |[MmEE| 3 | 0.22 m 3 | 009 |[FF=| 3 | 0.09 (mm&E| 4 [ 0.09 |=®m®|[ 2 | 0.08
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H23.4.3 16:00 || &EdLFE| 6 | 0.24 ] 1 | 027 |mm®E| 3 | 0.11 ] 4 [ 009 |[FrE&E| 3 | 010 [ A= | 2 | 0.09
. 17:00 || &4t | 4 | 0.24 |[Fm®| 1 | 0.24 (| 2 | 0.06 [mmm®E|( 3 | 0.11 mE | 2 | 0.09 |[FFE| 2 | 0.15
. 18:00 |(&EdE| 4 | 025 | &% [ O [ 0.27 m 2 | 0.10 ] 2 | 009 L3 4 | 008 |Fmm=| 2 | 0.06
. 19:00 || mmdE| 2 | 0.25 |[@wm&E|( 1 | 0.27 m 1] 010 |mm=E| 1 [ 0.09 |[=Fm=| 1 | 009 || m=| 1 | 0.02
. 2000 ||&EmE| 2 | 026 || FM@E | 1 | 025 || #% | O | 0.12 |[=m=| 1 | 007 [ &% [ O | 0.09 (Ji&w| 1 [ 0.11
H23.4.4 7:00 it 3 0.28 i 2 0.26 L] 0 0.04 it 1 0.08 it 0 0.10 it 1 0.05
. 8:00 |[mm#E| 1 | 0.28 = 2 [ 028 || 4= | 1 | 011 mR [ 1 [ 0.07 it 2 | 0.11 #iE | 0 | 009
N 9:00 ||dtdLm| 5 0.29 ([FamEEE| 1 0.26 |[[Jtde=| 3 0.04 it 1 0.06 |[dtdeEm| 2 0.09 L] 1 0.10
. 10:00 || 4L4t#E| 3 | 0.26 = 3 1023 || 4®= | 3 | 0.08 |4td#E| 1 | 0.07 [ddkE&E| 5 | 0.09 ] 1 | 0.09
N 11:00 || dtdtmm| 2 0.26 [GE 2 0.26 |[FdE| 2 0.09 ® 1 0.08 |[dtimm| 4 0.09 L] 2 0.06
N 12:00 || dtikEE| 4 0.27 |(FamE=m| 2 0.29 |[dtde=| 3 0.07 |[FEdeE| 1 0.07 |[FdE| 5 0.09 |[=m=m| 2 0.09
. 13:00 || &4 | 4 | 026 | 4@ | 2 | 027 || 4= | 3 [ 010 |[ 4= [ 2 | 0.08 (4tdE| 5 [ 0.10 | A& [ 3 | 0.11
. 1400 | & 5 | 025 |[=J®E| 2 | 0.27 |4td=®| 5 | 0.04 |[=i=E|[ 2 | 0.10 (4tdFE| 5 [ 0.09 |FEm=E|[ 2 | 0.04
N 15:00 || &dEwE| 3 0.25 i 1 0.25 |[dti=| 4 0.10 |[=de=| 3 0.08 |[dticEE| 6 0.09 ® 4 0.05
. 16:00 || 4t 2 | 0.24 it 1 | 0.27 it 4 1012 | &= | 5 | 0.11 |dtdk&E| 5 [ 0.09 |[[Fm=| 3 | 0.12
N 17:00 || dtdt=| 2 0.23 |[FEdeE| 2 0.27 it 3 0.08 |[dede=| 5 0.10 |[dtdeEE| 5 0.09 |(FamE| 2 0.03
. 18:00 |[FamEdE| 1 | 0.24 i 1 | 022 |4d=| 3 | 0.11 it 2 | 0.10 |[dedEE| 4 | 0.09 (&wEAE| 2 | 0.05
N 19:00 || dtdtmm| 2 0.24 ([Aede=] 1 0.27 it 2 0.05 ® 3 0.09 |[dtdemm| 3 0.09 [GE 2 0.07




MAET CEA [ REm N i FRBIIET (L
(¢ Sv/h) (¢ Sv/h) (uSv/h) (1 Sv/h) (uSv/h) (¢ Sv/h)
H23.4.4 2000 |[=ma®| 1 | 0.25 |@mE@E| 1 | 0.25 it 4 | 009 |dedt=| 2 | 0.10 |dtde#&E| 2 [ 0.10 |[Bm®| 1 | 0.07
H23.4.5 7.00 ||mEmE#E| 1 | 0.24 i 2 (029 |[ = | 1 | 011 (&Ef@E| 1 [ 009 || @B | O | 0.09 [ #% | 0 | 0.03
. 800 || M= | 1 | 0.24 |[dtdez| 1 | 0.25 (=i=| 1 | 0.07 it 0 | O0.11 #iE | 0 | 0.09 ] 0 | 0.11
. 900 (|mm®| 2 | 025 |[4& | 1 | 026 | 4= | 1 [ 007 |[=e=| 1 | 0.07 (mmmE| 1 [ 008 |[[ A= [ 1 | 0.12
. 10:00 [|4tx| 3 | 0.24 |[ m= | 2 | 0.28 L3 11003 || &= | 1 [ 0.08 |[FEiFE| 3 | 008 || m= | 2 | 0.14
. 11:00 || 4t 4 | 024 |=iE|[ 1 | 0.27 L3 1] 0.09 [4td=| 1 | 0.08 i 2 | 0.10 ] 2 | 0.08
. 12:00 || 4% | 4 | 0.25 |[mmE®| 2 | 027 (| 4= | 1 [ 0.12 |mmm&E|( 1 | 0.08 it 1] 009 (mmExE|[ 1 [ 0.06
N 13:00 || dtdtE@| 5 0.25 ® 3 0.28 |(FamEEE| 2 0.13 |(FamE| 2 0.08 |[dtdeEmE| 3 0.09 ((FamEEE| 2 0.1
N 14:00 || dtdtE@| 5 0.24 |[=dL=m| 2 0.25 [i] 2 0.10 i 1 0.06 |[FimE| 4 0.08 i 2 0.06
N 15:00 || &t | 7 0.24 |[=dL=m| 2 0.26 |[FEmmE| 2 0.13 |[Fam=®| 2 0.07 it 2 0.10 L] 1 0.05
N 16:00 || 4t 6 0.23 |[=dL=m| 2 0.23 |[FEdE| 2 0.13 |[FEdeE| 2 0.07 it 2 0.10 ((FamEEE| 2 0.08
N 17:00 || &EdE| 4 0.24 |[=dL=m| 2 0.23 [i] 2 0.15 |(FEm&E| 2 0.09 |[[dtae=| 1 0.09 L] 2 0.06
. 18:00 || & | 5 | 0.23 | 4= | 1 | 0.28 L3 3 | 0.21 @m | 1 | 009 (=i=E[ 2 [ 0.08 |[EFE| 1 | 0.04
. 1900 || M%& | 1 | 0.24 || mdE | 1 | 0.22 ([=4d=m| 2 | 0.12 |[=4=®| 2 | 013 |m=@=®E| 1 | 0.09 it 1 ] 0.14
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H23.4.6 700 (| #% [ O [ 0.24 |&i#&E| 1 [ 0.30 |=d=| 1 | 0.09 [[dtdkx®| 1 | 010 |[m= | 1 | 009 [ &%= [ O | 0.08
. 8:00 ® 2 | 0.23 = 11021 | ==l 1 | 013 ([4dk=m| 1 [ 007 || A= | 1 | 009 |rmméE| 1 | 0.14
. 9:00 (|mm®| 2 | 023 |[Em= | 2 | 024 [4d=| 1 [ 0.11 it 1 | 007 |rFmExE|l 1 | 0.09 ] 11 012
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H23.4.6 10:00 (|=®R| 2 | 024 || M= | 2 | 024 (M| 2 | 008 |[m& | 2 | 008 || & [ 2 | 0.10 |@mm&E| 1 | 0.12
“ 1100 | & 2 | 024 |(=@m=| 3 | 0.30 |mm@E| 3 | 0.16 (FAr@E| 4 | 0.06 (F@m=| 2 | 0.10 2 | 012
“ 1200 || 4= | 2 | 024 (=®m=®| 2 | 025 | @& | 2 | 0.19 |[&m&E| 2 | 0.06 2] 1 | 0.09 2 | 0.08
“ 1300 | # 1 | 022 (=m®x|l 2 [ 029 || A= | 2 [ 0.09 2] 2 | 008 |mm@E| 2 | 0.09 1 | 0.08
“ 14.00 ||mm&E| 2 | 022 (| M= | 2 [ 025 (| @m& | 2 | 007 |[m& | 2 | 006 |medE| 3 | 0.09 |mmx| 1 | 0.14
“ 15:00 || %= | 2 | 0.22 2] 2 | 0.26 3 | 0.12 |(mmxE| 3 | 006 |#FmEm&E|( 2 | 0.09 || A= | 3 | 0.16
“ 16:00 || =m®E| 1 | 0.21 2] 2 | 022 1 [ 013 (mm=| 3 [ 008 [ m#&E | 3 [ 009 |[m*E| 2 | 0.10
“ 17.00 ||| 2 | 0.23 |@Am=®| 2 | 0.25 2 | 0.06 2] 4 1007 |Fm@E | 2 | 009 [[A®| 2 | 0.16
“ 1800 | & 1 | 0.22 i 1 | 0.24 3 | 0.07 2] 4 | 007 |=@m=|l 4 | 009 A= | 2 | 0.03
“ 19:00 || ®w&E| 2 | 0.23 i 2 | 030 |[=@A=®| 2 | 0.09 2] 31010 |[Am=| 1 | 0.09 2] 1 | 0.04
“ 20:00 |[@EmE@| 2 | 0.23 |[&E4d#&E| 2 | 0.26 |m@m=|( 1 | 0.13 2] 2 1008 ||[#% | 0 | 0.09 i 1 | 0.06
H23.4.7 7:00 i 2 | 0.24 i 1 (028 | 4= | 1 | 0.06 |dd=| 1 | 008 || #% | 0 | 0.09 | & | 1 | 0.06
“ 800 | =m®| 1 | 0.24 (&4#&E| 1 [ 023 |[(4LdL#&E| 1 | 0.07 |[[4d&E| 1 | 008 | #% [ 0 | 0.09 || A= | 1 | 0.06
“ 900 || A= | 1 | 0.24 (=4=| 1 [ 020 |[[Fm®| O | 0.05 |[md& 1 | 007 | #% [ 0 | 0.09 |m@m&E| 1 | 0.09
“ 1000 | ® 2 | 0.24 R 2 | 028 |mm@m=| 1 | 0.09 |(m@m@E| 2 | 007 [®™m=| 2 [ 008 ([ m& | 2 | 0.10
“ 11:00 ||mRE| 2 | 0.23 2] 1 | 022 (#mdE| 2 [ 009 [[m&E | 2 | 007 |[ MR | 2 | 0.09 2] 2 | 0.07
“ 1200 | # 31024 |[m=| 2 | 027 |mm@m@E| 3 | 0.07 2] 3 | 006 |#mm&E| 3 | 0.09 2] 2 | 0.11
“ 1300 | # 3 | 023 |[=m®| 2 | 026 || M@ [ 3 | 0.10 (|#@&EdE| 2 | 006 || m=f&E | 4 | 0.09 [#&Em#E| 1 | 0.05
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H23.4.7 1400 | # 2 | 024 |[=@m=| 2 | 0.27 |m@@E| 3 | 0.08 (Am@E| 3 | 0.08 2] 2 | 009 |[mMm&E | 2 | 0.04
“ 15:.00 ||mmR| 3 | 024 || A= | 2 | 0.22 2] 3 | 0.09 3 | 008 |@mmE| 1 | 0.09 (#@@E| 2 | 0.06

“ 16:00 | ™ 2 | 023 |(mm=| 1 | 025 || A& [ 3 | 0.09 4 1009 || Mm@ | 2 | 009 (#m@@E| 2 | 0.07

“ 17:00 |[FE@E®E| 2 | 0.24 2] 1 | 0.24 3 | 0.16 3 | 007 |mm@E| 2 | 0.09 (#@E=| 2 | 0.06

“ 1800 | & 1 | 0.23 (#&mdE| 1 | 0.24 3 | 0.07 |[mm=| 3 | 0.08 |mm&E| 1 | 0.09 (=m=| 1 | 0.10

“ 19:00 || & 1 | 0.23 i 2 |1 025 3 | 0.11 |(mm=| 3 | 008 |mm&E|( 2 | 0.09 i 2 | 017

“ 20:00 || 2 | 0.23 |[@E4dE| 2 | 023 |[mm=m| 2 | 0.15 (mm=| 3 [ 007 | #%E | O | 0.08 |di=| 1 | 0.15
H23.4.8 7:00 ||FmE| 2 | 023 | d®E | 1 | 0.28 ® 2 | 0.06 2] 1 [ 007 |Frm=| 1 [ 010 | ##% | 0 | 0.06
“ 800 |mm&E| 3 | 0.22 (=®=m=®| 1 [ 029 |mme&E| 3 | 007 |[m& | 1 | 006 [dLdtE&( 1 | 0.09 [-dz=| 1 | 0.07
“ 9:.00 |[FEmE®E| 4 | 0.21 R 2 | 028 |mm@E| 4 | 006 || A% | 2 | 0.11 (mmdE| 4 | 0.09 2] 1 [ 011

“ 10:00 || % | 3 | 0.21 |(#m=®| 1 | 026 [ & | 5 [ 008 || m& | 3 | 008 || m& | 6 | 0.09 2] 3 | 0.07
“ 11:00 ||| 3 | 0.20 (mm®| 3 | 0.25 |(#m&E| 6 | 0.11 ||FmdE| 4 | 0.08 |[mmd&E| 7 | 0.09 2] 3 | 012

“ 12:.00 ||mma#&E| 3 | 0.22 (mm®| 3 [ 026 | m#&E | 6 | 0.07 2] 6 | 008 |mm@E|( 6 | 0.09 || A& | 2 | 0.06

“ 13:.00 ||| 2 | 0.22 (mFm=®| 3 | 0.26 (mmmdE| 5 | 0.08 |[mmdE| 5 | 0.08 2] 6 | 0.09 |mm#&E| 3 | 0.07

“ 1400 | # 3 | 0.22 2] 2 | 023 |mm@E| 6 | 0.12 2] 6 | 0.09 2] 6 | 0.09 2] 4 | 0.05

“ 15:00 || & | 3 | 0.23 2] 1 | 0.23 (mm&E| 6 [ 0.05 2] 7 | 0.08 2] 4 | 0.09 2] 4 | 0.03

“ 16:00 ||| 3 | 0.22 |@mm=®| 2 | 0.23 2] 5 | 0.13 2] 5 | 0.10 2] 6 | 0.09 |[mm=| 3 | 0.03

“ 1700 | # 2 | 0.22 |[m@m=| 1 | 0.18 2] 5 | 0.14 2] 5 | 0.10 2] 5 | 0.09 |[m@E=| 3 | 0.09
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H23.4.8 18:00 | ™ 1] 0.22 5] 0 [ 0.25 &) 4 | 0.01 5] 4 [ 009 |[mm®| 3 | 0.08 || m=| 2 [ 0.08

“ 19:00 | ™ 1 0.22 i 1 0.21 |mr®| 1 0.06 |(Fr=E| 4 | 0.09 ® 1 0.08 (=i=E|[ 2 | 0.08

w 20:00 || ®mm@E| O | 0.22 |(#&FEE| 1 0.23 &3] 2 | 0.07 |[mm=| 3 | 0.10 it 0 | 0.09 |dedez=| 1 0.05




